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1. The length of 35 metallic conduits were measured and the results entered in a frequency
table as shown in table 1.

Table 1
Length, m Frequency
295-29.6 3
29.7-29.8 6
299-300 11
30.1-30.2 5
303-304 5
30.5-30.6 3
30.7 - 30.8 2

Using the data provided, calculate the:

(@)
(b)
(©)
(d)

(b)

(©)
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mean length;

standard deviation;

median;

mode. (20 marks)
The second term of G.P. is -8 while the fifth is 1. Determine the sum of the first

ten terms of the series correct to 2 decimal places. (7 marks)

The fifth term of an A.P. is 19 and the sum of its first eight terms is 136.
Determine the:

@) first term and common difference;
(i1) sum of the first twenty terms. (10 marks)

Evaluate the sum to infinity of a G.P. whose first term is 4 and the common difference

is 5. (3 marks)
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3. (a) Given the matrices:
_(—2 1 3> B ‘; —2 dC—( 9 4>
“\121)°7 ad =112 -6
0 2
determine AB + C.

(b) Determine the inverse of:

1 1

3 2
<_1— l).

5 4

(c) Solve by inverse matrix method the following simultaneous equation:

Tx+4y =18
8x — 6y = 10°
4. (a) Simplify the following expression leaving your answer with positive indices:

(10x7y"¥)(62°)
(15xy¥z%)
(b) Solve for x in the following equation:
BLUEX2E - 79
: 9
(©) Given that x = 36 and y = (gléf)’ find:

® %y B
o ()

(d) Using mathematical tables, evaluate the following expression to 3 significant

figures:
43.25 X 0.843
J2.641 +9.371
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(6 marks)
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(b)
(c)
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., . . :
Given that M = ( x) is a singular matrix, determine

2
@) the possible values of x;
(ii) write down the two possible matrices. . (6 marks)

Two resistors R, and R, connected in series have net resistance of 20 ohms. When
the resistors are connected in parallel, they have a net resistance of 4.8 ohms.
Determine the values of R and R, (10 marks)

Solve for x in the following equation:

—25; = 64%. (4 marks)

John can complete a task in 5 hours while Amos can do the same task in 7 hours.
Calculate the time they would take when working together. (5 marks)
Convert the decimal 0.16 to fraction. (8 marks)
Three automatic switches A, B and C momentarily switch on after 12 minutes,

15 minutes and 25 minutes respectively. On a certain day, they went on simultaneously
at 9.00 am. Determine the next time they will all be simultaneously on. (7 marks)
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7. Table 2 shows the wages earned by workers in a factory for five working days.

Table 2

Wage in K€ Number of Workers

40 - 49 6

50 - 59 10

60 - 69 9

70 - 79 7

80 - 89 5

90 - 99 3
(a)  Use the information provided to construct a cumulative frequency table. (2 marks)
(b) Draw an Ogive curve and determine the:

(b)

(©)
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1) mean wage;

(i1) lower quartile wage;

(ili)  upper quartile wage;

(iv)  percentage of workers whose earning is in the interquartile range;

) ninth decile. (18 marks)

The cost of a machine from a manufacturer is US$ 8,400. The machine was later

sold to a firm at a profit of 10%. If the machine depreciated at 2% per annum from

the time it was acquired, calculate its value in sterling pounds after 8 years.

Assume mean currency exchange rate are as follows:

1 US$ = Ksh 79.23

1 GB£ =Ksh 115.52. (7 marks)

@) Convert 43 to binary.
(ii) Convert 10011101, to denary. (8 marks)
A ball is dropped from a height of 1.0 m. Every time it strikes the floor, it rises

3 of the previous height to which it had risen. Determine the total distance it had
travelled before it came to rest. (5 marks)
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